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CHAPTER 1
Introduction to Micro Economics
A Simple Economy
Simple Economy deals with the day-to-day economic activities such as production,
consumption, capital formation, exchange and distribution of goods and services. Economic

agents can be individuals, business organizations or government.

aIglono@ qumid alyaimua (Simple Economy)
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CENTRAL PROBLEMS OF AN ECONOMY:
The Central problems of an economy arises due to the following reasons:

1. Human wants are unlimited
2. Resources are limited.

3. Resources have alternative uses.

The resources available to the human are limited, but their wants are unlimited. Due to
the scarcity of resources, the economy faces the problem of choice. The mismatch between
unlimited wants and limited resources that gives rise to to three Central problems faced by

every economy,
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1. WHAT TO PRODUCE AND IN WHAT QUANTITIES?

Every socicty wants thousands of goods and services. Since resources arc scarce, all

these goods and services cannot be produced, so it has decided to what type goods are
produced.

2. HOW TO PRODUCE

It i1s the problem related with the technique of production. There are two techniques of
production. — Labour intensive and Capital intensive. Labour intensive is a production
technique, which use more amount of labour and less amount of capital. Capital intensive 1s a

production technique, which uses more amount of capital and less amount of labour,

3. WHOM TO PRODUCE
[t is the problem related with distribution. It means distribution of output among the

factors of production. This is called functional distribution.

ORGANISATION OF ECONOMIC ACTIVITIES:
Every economy fries to solve Central problems differently. According to the way to

solve Central problems cconomics broadly divided into three.

1. Cenirally Planned Economy OR Socialist Economy.

It is an economic system where all the means of production are under the ownership and

control of the government. All Central Economic problems are solved by Government or

Planning Authority in a Socialistic Economy. Centralized planning, public welfare, public

sector etc. are the important features of centrally planned economy. Eg: China, USSR,

2. Market Economy OR Capitalist Economy:

It 1s an economic system where all the means of production are under the ownership of
private individuals. All Central Economic Problems are solved by Price Mechanism or Market

Mechanism under Capitalism. Price mechanism, Private sector, Profit Motive etc. are the

features of market economy. Eg: UK., U.S.A.
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BRANCHES OF ECONOMICS: Economics 1s broadly divided into two branches. They are

the following:

MICRO ECONOMICS: It is the branch of Economics which deals with individual units. Tt is

also called price theory, demand theory, cost theory ete. Eg
. Salary of a person, demand for a pen.

MACRO ECONOMICS: It is another branch of Economics which deals with aggregates.
John Maynard Keynes is considered as the father of Macro Economics. It 15 otherwise called

income theory. Eg: National income, aggregate demand, inflation, money supply.

AVIGHD AVINIOMIH: IV (OOMIHMIO) @YD) 6o

Father of Economics : Adam Smith
Book ; Wealth of Nations (1776)
An enquiry into the nature and causes of wealth of nations.
Types of Economy
1. Capitalist / market economy : -
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2. Socialist / Centrally planned economy:
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CENTRAL PROBLEMS OF AN ECONOMY
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CHAPTER 2
THEORY OF CONSUMER BEHAVIOUR

Utility

It means wants satisfving capacity of a commodity. In order to analysc the consumer

behaviour we must have a knowledge about the level of satisfaction from the consumption of

goods and services. There are two different approaches, they are:

1. Cardinal Approach

2. Ordinal Approach

1. CARDINAL APPROACH:

e [t was put forwarded by Alfred Marshall

e [t measures the utility of a commodities by numerical terms

e Ultil is the unit of measurement of utility.

e According to Alfred Marshall, a consumer consumes more and more unit of a
commodity the marginal utility derived from this consumption is gradually diminishes
this concept is popularly known as law of diminishing marginal utility.

e The law can be explained by the following assumption.

1. The commodities are unique.
2. No time gap between the consumption of 2 units.
3. The commodity is not a habitual commodity.

2. ORDINAL APPROACH:

e [t was put forwarded by J.K. Hicks.
 According to him utility cannot be measured in numerical terms. It is possible only to
compare the utilities from different units of consumption. This approach 1s also called

indifference curve approach.

Indifference Curve

The locus of points of combinations of two goods which gives the consumer the same

level of satisfaction.
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The Consumer Budget: If the consumer’s income and price of two goods are given, then

consumers can buy only those bundles which cost less than or equal to his income.

Budget Set: [t 1s the sum total of consumption bundle available to the consumer with his

available income. So the equation of the budget set is:

Budget line: It 1s a graphical representation of all bundles, those cost exactly equal to

consumer’s income. It is straight line having the vertical intercept M/P2 and horizontal

PIX1+P2X2=M

intercept M/P1. Equation of the budget line:

PIX1+P2X2=M

Prepare budget line from the following information:

A) Any combination along the budget line shows cost of bundle exactly equal to consumer

P1 =Rs.2
P2 =Rs4
M = Rs.20
Y
5

Crood 2
I

mncome.

(0,5)(2,4) (4,3) (6.2) (8,1) (10,0)
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CONSUMER EQUILIBRIUM OR CONSUMER’S OPTIMUM: It is a point where a
consumer can enjoy maximum satisfaction with his income. In other words, it is a point where

budget line 1s tangent to the 1C curve. At this point MRS = Slope of the budget line expressed

Ax2 P1
as —— = —— |t can bc shown as follows:
Ax1 Pz
*
B 3 - Consumer 1s at equilibrium at
\ Point L, when budget line A 1s
” Just tangent to *1C,°
=
= H
L&‘ =
E .
g ‘H-.,_‘____‘ - - < lC
: — i
u . e AT POINT ‘E* 22 -2
"y : T Ax1 P2
O M — T _
Commodity X

In the above diagram ‘AB’ is the budget line. IC,, IC,, IC; are the indifference curves. IC,
touches the point ‘F’ and ‘G’ but these points don’t consider as the consumer’s equilibrium,

because IC; gives more satisfaction than IC;. Budget line 1s tangent to the IC; at the point *E’.

It is considered as consumer’s equilibrium.

DEMAND:

Demand is a desire backed by ability and willingness to pay for a commodity. The functional
relationship between demand and demand determining factors is called demand function.

Algebraically g=f (P, Pr, M, T).

LAW OF DEMAND: If other things remaining the same, price of a commodity increases its
quantity demanded will be Decreases and vice versa. This inverse relationship between price
and quantity is called Law of demand. The other things mean Income of the consumer, price of
related goods, Taste and preferences of the consumer, Climate, Fashion etc. These factors are

called demand determining factors.
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DEMAND CURVE: The graph, which shows the inverse relationship between price and
quantity demanded is called Demand Curve. The Demand Curve 1s downward sloping curve

because of the following reasons.

1. Price effect: Change in demand due to the change in price is called price effect.

2. Substitution effect: It 1s the effect between two commodities. If the price of one
commodity increase, the quantity demanded of the other commodity increase.

3. Income effect: Change in the quantity demanded of a commodity due to the change in

the real income of the consumer. It is called income effect. The following is demand

Curve. P
Price Quantity
Demanded
Rs.12 0
Rs.8 2
Rs.4 —~
Rs.0 6

SUBSTITUTE GOODS OR SUPPLEMENTARY GOODS: The goods which used as substitute

to satisfy a need are called substitute goods. Eg: coffee and tea, bus and train.

COMPLEMENTARY GOODS: The goods which used together are called complementary

goods. Eg: bread and jam, pen and ink.

NORMAL GOODS: When income of the consumer increases, quantity Demand of certain

commodities also increases. Such goods are called normal goods. Eg: Television, computer.

INFERIOR GOODS: When consumer’s Income increases Demand of certain commodities

Decreases. Such commodities are called inferior goods. Eg: beedi, tapioca.
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Utility (9a1@) SO @)
DalERIGMINONE @BHUUDLERES OalBen|S)EMOMSS TVIWMEERS)HSEI GIUAIM
fARE)HSCWI &¥lal
oW @D m:;g’leﬂg’l (Cardinal Utility)
)slellglo@ mri0)&8)es @psSInuuImMTBIcd @RSEHHIND d&¥lw)o.
820WIm@d w)sleflgl (Ordinal Utility)
w)sleildlow MmMIo)&:8)0s @RSIMOIMOTITE @REEHIND HEIWIR), alGH 00680

S0 Sh¥lw)o.

Consumption Bundle (9a1G80( 6nuensl1@d)

80) 2aleceoemondln) 6ERIM HPIWIM 2 UMM ENBIOS ofO) COODLN88 Gald)

(UH)o Consumption Bundle af)(m alOo@)om).

Budget Set / Budget Constraint

PIX1+P2X2<M

Py = uowmeo 16003 ailel
P, = cruowmeo 2603 aflel
X = Tuotwmo 183 @esql
Xz = (UoWme 2603 @RSl

DalEeISMONeTE o anomo = M

Budget Line

PiX,+P.X>-=M

Palecoamoallond cumm)el@moalcua (Consumer's Equilibrium)

DalerIemonllond aloadaw] mm&mmmsyﬂ (Optimal Choice)
eI RO® UMIM)EHE]ITd MIM)o DalERIGMIN] @REZANTMIM &)S|OTE GITVAIDL\?)

88 6NN HMOETHS]EN)N MUIaNal Y06 o).
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Consumer is at equilibrinm at
e Point E, when budget line AB is
fg just tangent to *T1C,
S
=
=
2
!
5 X g2 __ P
o AT POINT ‘E’ =~ =

Commodity X

Law of Demand

aflei)o @aloamallo momlenss allae|o sumwe ™ @&oemlea)om mlwanoem]o).
Demand (DD) galoameam qulowlmlee)omn aalSH6aRud

1. nuummmrm’lmnﬁ ailel :-

80} aurimalend allawie er@lend Demand 9o @ezled ailuel® eumuacsms8so. @eLo

o 8o) amiayailend afler #,)slwoed @y cmim)ailend Demand e)ow)o.

2. al®Mial® MIMLAIBS TVOWMEEBRS)AS ailel

Al@MUal® MITMWEO8S UTIMEHUD af)M alOsTMmIGE Substitute goods (aldh@o HCUSE)MM UMY

@ 860d) @reclsslad Complementary goods (al)@d QIMI@)S6UB) @R0o.
Substitute goods (La@MUOSaIM UMV ®)H6GB)

BIMIM) alddo Dalc@IWEHIAMM B6QIO) AUMIM)UIEMIM. Eg: alo@m)o &aflw)o,

aH]0l)o B al®laj)o.
Complementary Goods (al}od® QITU®)6603)

60) TRHOUDIHOT MyaiMIen|S)EMIM B8E0 Mo sMMalWlso TVIWMEEBSEIAS BRYAIUDYo

UE)M). ©3%- GalM)o DaHlW)o, 0o HAIG(SIS)o
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Inferior Goods (o @o6em QUMI®)B6HD)

(U@IAOMo  dh)S)equoud Demand &)10@)&@)o (UD)@IMo &10WIETUoUd Demand &)S)&H@)o

621N o AUMIM). OF0: Mo GIEM @RO], dal, HSS
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CHAPTER -3

PRODUCTION AND COST

O® aldB8MOYo 62181010

90 aldBM WA

Input o Output Qo MA@ HES WAL IEAIW EUMLAIEM ©@lIBM WO,

1. a0y MUIdHIRIO -

D@ 128MOM l00) GRENIM AadQo QYOO M ¢nlene | af)g)d Input Sglejo

@2Qo UBYODIMD &Y IWIOM &ORIWENI6M Short Run.

2. lngldh Il -

o@aldemom e ergallm adge @M@ 10 enume] af)g)d Input &g layo

Q1000 (LTI oW lee)m @&ielwanuden Long run.
TP= APxQ
AP = TP/Q
MP= TPn-TPn-1.
or
ATP/AQ

TP = 0220Mo ©@alMo
AP = (02(0® ] @ alMo

MP = M12200 @ aliMo

Q = Ma o Gogal
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A1eBBEIM)ald® MWA0/ BRAl.2I® MR

(Law of Variable Proportion)

mudle enMalgeal@ (Fixed input) @d0Qo (U@ODIO® (UleRRS
OMa)3de 1@ (variable input) @D(@o @IQo UOOYEMUIIWD @RAE
cQISOD 1M OAIOMo H@aldBMo (TP) ©@AM M1EE) 1@ (UAWH6)EB®)o

aflms’ ay0enm mloes e AUBWee)&®o GRAIMIMo TP aly@eMAIW) 0

$H)OW)EH®Yo 6).21QM)).

O@aldBM MWaAo

afleeas Input TP AP MP
0 0 ]
1 10 10 10
2 24 12 14
3 39 13 15
4 56 14 17
5 70 14 14
6 78 13 8
7 84 12 o
8 84 10.5 0
9 81 9 3
10 76 7.6 5
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63(M o ~8IS0 (AUBRLAIM (1D | aIGo)

MP *
AP 1

@RM)0HIENE TP @AM Mloee lod cudule)m).

Mo ~aISo @ROUTVIM 186)EMUIUD AP al@@dCLIW]

QeNS8207a150 (B2l (IO (WRIF0)

MP |
AP |

BRO)OEHIEMNE TP &)Oemm M a6 1md Cdwles)m).

@6N820naIF0 @ROUAVIM 186))CMIIUD TP al@@dUWI®)0 MP a8 (L))o @M.

@)aMI0Ig0 (8MNGIQT (al@ | WaIgo)

« gnriles MP emnglal @aeymM). Y

* AP |

. BRGNS TP &)W, Point of

Inflexion_ F

Output

P

Fig. 11.1 N
Amount of a variable factor MP

O
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6218101 (Cost)

mualo 621 (Fixed Cost)

Eigi =

DB 128Mo &S @R YNNI AIQo CUMIOM afleinden o).
D@ 128MOD Y00 BREOT al@I®IN)0 fixed cost Mud I @ 1860

&@a128Mo o' G@E}mﬂ&j&l‘gﬂ fixed cost ©6NSDdh)o.

@22 166)0, 051500 1M288 (IS

muo oo oMY 1e0g18:80Ss temigo

[nsurance Premium (00O MDY @) fH)
QD@ al DS 1 ORIVMOB MO0 ~leflte

aileerd 6.alniq] (Variable Cost)

v ©@Bald@m@m Mm@ el @20 @_eleltudem .

v @MaldBMo &SYEMUIUD Variable Cost dhS)o

v ©MaldBMo &)OMWYEMUIUD Variable Cost &)O0M)0

v ©@aldB8Mo O GRAEME @ Variable Cost al)® 2@ 1@166)0.

eg:-

> GRAVM & @ (LI OYEO80S aflain]

2 gomum ealeiq]

<> OO 6 .alelay]

> oomendells Klumendm)es enimmo
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TC =TFC + TVC or TC = AC*Q
TFC =TC-TVC or TFC = AFC*Q
TVC =TC-TFC or TVC = AVC*Q
AVC = TVCIQ
AFC = TFC/Q
AC = TC/Q or AC = AFC + AVC
MC = TCn-TCn_lor MC = ATC / AQ
8r) amimlayes aflainfloem®ye §@atd8momlam®)e Moenimulesm aflcuesmsed
M0 M 1@ 186m,.
Output TC

0 90

j 105

2 115

3 120

4 135

3 160

6 200

7 260
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a. TFC, TVC, AFC, AVC, AC, MC af)m 1wl &26m)ds.

b. B3¢ (Nal1@ TFC, TVC, TC &26em 186 afli®o QU086 &?

Output TC TFC TVC AFC AVC AC MC
0 90 90 0 0 - 0 0
1 105 9 15 920 15 105 15
2 115 9 25 45 12.5 7.0 10
3 120 90 30 30 10 40 5
4 135 9 45 22.5 11.25 33.75 15
D 160 90 70 18 14 32 25
6 200 90 110 15 18.33 33.33 40
i 260 90 170 12.86 24.29 37.14 60

PRODUCTION FUNCTION:

PRODUCTION AND COST

The relationship between inputs used and output produced by a firm 1s called production

function.

SHORT RUN :

LONG RUN:

TOTAL PRODUCT (TP) OR TOTAL PHYSICAL PRODUCT (TPP): Total output

produced with the given quantity of inputs.

AVERAGE PRODUCT (AP) OR AVERAGE PHYSICAL PRODUCT (APP) AP is the

output per unit of Variable input. By dividing Total output with Variable factors, we get AP

OR APP

allz@eeco]l aclaf)0o 21210 alemI0WETD

Short period of time, Factors of production are fixed

Long period of time, Factors of production are variable
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MARGINAL PRODUCT (MP) OR MARGINAL PHYSICAL PRODUCT (MPP) It is the

additional product derived from an additional unit.

THE LAW OF VARIABLE PROPORTION OR

LAW OF DIMINISHING MARGINAL PRODUCT

Law of variable proportions or the law of diminishing marginal product say that the
marginal product of a factor input initially rises with its employment level. But after reaching a
certain level of employment, it starts falling. This is because of un proportionate factor
proportions. Factor proportions represent the ratio in which the two mnputs are combined to
produce output. As we hold one factor fixed and keep increasing the other, the factor
proportions change. Initially, as we increase the amount of the variable input, the factor
proportions become more and more suitable for the production and marginal product increases.

But after a certain level of employment. The production process becomes over crowded with

the variable input. This 1s shown by the following table.

U 1e@B® mput TP AP MP
0 0 - -
1 10 10 10
2 24 12 14
3 39 13 15
4 56 14 17
5 70 14 14
6 78 13 8
7 84 12 6
8 84 10.5 0
9 81 9 -3
10 76 7.6 -5
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The above table illustrates several important features of a typical production function
with one variable input- here both Average Product (AP) and Marginal Product (MP) of labour
first rise, reach maximum - then decline. The total output increases at an increasing rate till the
employment of the 4th worker. The rate of increase in the marginal product reveals this. Any
additional labour employed beyond the 4"labour clearly faces the operation of the Law of
Diminishing Returns. The marginal product 1s 17 after which i1t continues to fall ultimately
becoming negative. Thus when more and more units of labour are combined with other fixed
factors the total output increase first at an increasing rate then it diminishing rate finally it

becomes negative. The graphical representation of the above table 1s shown below.

Y

Point of

P
Inflexion_ F

Output

O Fig.114a N M

Amount of a variable factor MP

In the above diagram TP. AP and MP are Total product curve, Average product curve
and MP is the Marginal product curves. The three stages of the law is illustrated. In the first
stage TP increases at an increasing rate. AP and MP also increase. It 1s called increasing returns
to a factor. In the second stage TP increases at a decreasing rate, and AP and MP decline. It is
called Diminishing returns to a factor in the third stage TP starts decline and MP becomes

negative and AP declines. It is called Negative returns to a factor.
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COST
It refers to the expenses incurred by the producer to produce goods and services.

TOTAL COST: Total Cost refers the sum total of all costs incurred by the producer...

TC =TFC+TVC or TC = AC*Q

TFC =TC-TVC or TFC = AFC*Q

TVC =TC-TFC or TVC = AVC*Q

AVC = TVC/Q

AFC = TFC/Q

AC = TC/Q or AC = AFC + AVC
MC = TCn—-TCn_1 or MC = ATC/ AQ

An 1deal cost schedule given below;

Output TC
0 90
1 105
2 115
3 120
= 135
5 160
6 200
7 260

a. Calculate TFC, TVC, AFC, AVC, AC, MC
b. Graphically present TFC, TVC, TC

allz@ecol aalaf)0o 21210 aleRIOQMD
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Output TC TFC TVC AFC AVC | AC MC
0 90 90 0 0 -0 0
1 105 90 15 90 15 | 105 15
2 115 90 25 45 125 | 575 10
3 120 90 30 30 10 | 40 5
4 135 90 45 225 1125 | 3375 15
5 160 90 70 18 TR 25
6 200 90 110 15 1833 | 33.33 40
7 260 90 170 12.86 2429 | 37.14 60

allz@ecol aalaf)0o 21210 aleRIOQMD

22

Scanned with CamScanner



Chapter 4

Theory of the firm under perfect competition

a1 AEN AOTVE BEMIDIGOD oAl

M o188 @emIglom moenimw]l.el )88 mlryIamo.

Perfect competition

(a1 BENAOTVE BEMUIEo0 )

WOIGo (UEER)MOUM0 A 1MH6MAI)o OS88 af) BN OO alMEBBRUD

O o123 1a {166 HEMUDB© OO 2 lBENADNVO &HEMIIG0 af)IM alO@IM.

Features of Perfect competition

a1 AEM ATV &EMIIGOM 1M MATEURHO S UD:

1. W20 GG:MISOE o (L 1G(EMIH0E o,

2. a)gp ©BaldBd ®PETIQ®Elo O aldBlafleanym  ©Tdalmedrud
) &HRIO A6 .

3. BBOIEOWEN0 U GHOIEOWDHN aldB6EN) (IGURM M- (a6
TV o

4. ©BaldB& RISEHEBRUDBE0 MIWMEBRUDHE0 al)BEM 2IRIM MVIDDAD jo

5. OO 2fleinilgy

6. BHEMIIGMTVIAN 210 (68BOBH0 | 2288 n RN GRO1NT.,

7. el viledomoald:-

aUoeBymaumle  Adl@enymaim)e adlel auilelea)maumoem, &emd
SO0 10a] GaldBM - (aJBIM WEM I&hud Ml lenym allel G&OIeng o

fe(&Bm2068 o Mild:® 186))0.

AflR@eEd] @2elaf)0o K120 AleIOW D) 23

Scanned with CamScanner



Revenue

Total Revenue (TR)

0 OMo (LBYAIMo (TR)

6300) ©Ta |28& WREMQ O a1dE la 186N MVOWMEBBUDSS) & 132N EADODo @) HHOW
O@OOMOUAIMo (TR) )M alOo@my. TR = aflel X @@ jmanlen) ergnl

(P x Q)
Average Revenue (AR)

WEIWMD | QUYAIMo AR

aflg @~ monlen) 260> ®yemiglad mlmeoes al@dmadem wEIUeE ]

CuU@)@a2Mo AR

A IRBEMATIVE HEMISOT @ of)ep @emigle aeo Allaiw s allmen)maolmoa

I | CLRZAIMOYo el o Myel (@@ 1@ 1860,
a1 6N ABTVO EHETUIGOD @ AR (Ll X GRSHO |1 MVADDORAIEM.

Marginal Revenue (MR)

m@20m QU @AIMo(MR)

60 ©elaldBd WM @R INOO ©@aldBMo 26D @RI &J526MmIdud

O@QD0Mo (UODIMOD 1T QENEIE:)M AIQEMD MIIAIMM CUDIAIMo af)NalO®M).

a1 BEN OOV SEMIIBOD @ MI@dam ()AdMo OfleIw @) @yalj@dem (MR) .

@ROIWD® ol DOVE HEMIGOD @ alflel, WAl (@M, M@
URYAIMo af) I myelj@dw1@leeo (P =AR=MR) enafles allel ¢ af)ma MR
QUBORo AR U@L @dem.
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Revenue

TR=P*Q
or

TR=AR *(Q

AR =TR/Q

MR =TR n— TR n-1
or

MR = ATR / AQ

TR = 22O (L)ADMo
AR = (REIW® | CLIO)@IMo
MR = MJ1@20m QL)@ Mo
P=dlel

Q- Dutput@ﬂ@fﬂ'
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If price = 10

Output TR AR MR
0 0 : :

1 10 10 10
2 20 10 10
3 30 10 10
4 40 10 10
5 50 10 10
6 60 10 10
7 70 10 10
8 80 10 10
9 90 10 10
10 100 10 10

G360 (NJal @ TR, AR, MR &26M |£6))M o

TR
AR
MR

(@0 LI E6))H?

TR

AR =MR

Qty
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and scllers buy and scll homogencous products. The following arc the featurcs of perfect

competition

I:

aa

vk

The most important teatures of perfect competition are;

mean every buyers and sellers in the market receive the price determined by market forces
such as Demand and Supply. Perfect Competition is not exist in the real world because the

features such as homogeneous products, absence of transportation cost.

called Revenue. There are three types of Revenue.

Total Revenue (TR): Income earned from selling of all the units of output in the market 1s
called Total Revenue. It 1s the product of price (P) and quantity sold(q). Total Revenue

curve 1s an upward sloping straight line. We use the following formula to find TR.

THEORY OF A FIRM UNDER PERFECT COMPETITION

Perfect competition: It 1s a market situation in which very large number of buyers

Large number of buyers and sellers.
Homogeneous products.

Free mobility of factors of production.

Perfect knowledge about the market conditions.
Freedom of entry and exit.

Absence of transportation cost.

Uniform price

Absence of selling cost.

Homogeneous products and every buyers and sellers are price takers. Price takers

REVENUE:

REVENUE: The Income earned by a producer by selling products in the market 1s

TR=PxQ

flR2@eRe] @2elaf)0o K1Q0 Al TS 27

Scanned with CamScanner



Average Revenue (AR): Total Revenue per unit of output is called AR. It is calculated

dividing TR by quantity of output sold AR curve is a horizontal straight line. It is also the

price line,

AR=TR/Q

Marginal Revenue (MR): MR is the additional Revenue by selling of an additional unit

output in the market. We usc the following equations for finding MR.

MR=TR n-TR n-1

It price = 10

Output ' TR AR MR
0 ' 0 _ )
l | 10 10 10
2 | 20 10 10
3 ' 30 10 10
4 ' 40 10 10
5 ' 50 10 10
6 ' 60 10 10
7 ' 70 10 10
8 ' 80 10 10
9 ' 90 10 10
10 100 10 10
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Draw TR, AR & MR

Y
TR
AR
MR TR
AR = MR
(0
Qty X
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